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Q33.In a certain code language ‘NORT’ is coded as
13120907 and JUMP’ is coded as ‘17061411". Then how
will ‘VALUE’ be coded in the same code language
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Q33.In a certain code language ‘NORT’ is coded as
‘13120907 and JUMP’ is coded as ‘17061411’. Then how
will ‘VALUE’ be coded in the same code language
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Q34.In a certain code language ‘SJY’ is coded as ‘2718’ and
‘MLT’ is coded as ‘75141". Then how will ‘ZQC’ be coded
in the same code language
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Q35.In a certain code language ‘NRI’ is coded as ‘5’ and ‘SIT’
is coded as ‘29’. Then how will ‘FAM’ be coded

in the same code language L
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Q36.In a certain cod anguage ‘JOT’ is coded as ‘5" and
‘SOX’ is coded as 20-Then how will ‘RSD’ be coded
in the same code language <
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Q37.In a certain code language ‘ELP’ is coded as 23", JOT' is
coded as ‘15" and ‘MSD’ is coded as ‘36". Then how will
‘ZOE’ be coded in the same code language
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Q38.In a certain code language ‘GOD’ is coded as ‘433’ Then
how will ‘TAC’ be coded in the same code language
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Q39.In a certain code language ‘MORTA’ is coded as

‘t>saemgrt’ Then how will ‘YORZA’ be coded
in the same code language ~
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Q40.In a certain code language ‘MORTA’ is coded as
‘131518201’ Then how will ‘YORZA’ be coded in the same
code language
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Q41.In a certain code language ‘SORTN’ is coded as ‘48732’

Then how will ‘MORYE’ be coded in the same code language
?
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Q42.In a certain code language ‘NOTRUM’ is coded as
‘629345’ Then how will{@VIUAT’ be coded in the same code

language ? 14 f5%_°'f>z.‘ 2 oV el
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Q43.In a certain code language ‘ZONACT’ is coded as
‘2315841’ Then how will ‘MISWAK’ be coded in the same
code ldhguage ? ,
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Q44.In a certain code language ‘NASMOQ’ is coded as ‘3445’
Then how will ZANTUR’ be coded in the same code
language ? iy 13 Bl (¥
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QA45.In a certain code language ‘SILICONVALLYS' is coded as
196" and ‘NOSTORDOG" is coded as ‘81" Then how will
‘ZAMUNAPARI’ be coded in the same code language ?
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Q46.In a certain code language ‘SIMRON’ is coded as ‘42’
and ‘BALWANT’ is coded as ‘56’ Then how wiill
‘YUJUVENDRA’ be coded in the same code language ?
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Q47.In a certain code language ‘PRICE’ is coded as ‘52" and
‘NEYMARS' is coded as ‘94" Then how will ‘CONNECTION’ be
coded in the same code language ?
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Q48.In a certain code language ‘BACKING’ is coded as @
and ‘PONDECHARY’ is coded as ‘46’ Then how will Z5

‘NEZOOLUI’ be coded in the same code language ?
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Q49.In a certain code language ‘BENQ’ is coded as ‘42’ and
‘SOLMACS’ is coded as ‘36" Then how will ‘'NEZWAR’ be

coded in the same code language ? @
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